SOLUCION

(Del 1 al 900.000.000)

» Escribe en hlimeros romanos:

. NUumeros Romahos

1 I 10 X 100 C 1.000 M 10.000 X

2 1 20 XX 200 CC 2.000 MM 20.000 XX
3 1l 30 XXX 300/ CCC |3.0000 MMM |30.000 XXX
4 \Y 40 XL 400 CD 4.000 v 40.000 XL
5 V 50 L 500 D 5.000 v 50.000 L

6 VI 60 LX 600 DC 6.000 VI 60.000 LX
7 VII 70 LXX 700 DCC | 7.000 VII 70.000 | LXX
8 VI 80 LXXX 800 DCCC |8.000 VIII 80.000 | LXXX
9 IX 90 XC 900 CM 9.000 IX 90.000 XC
100.000| C 1.000.000 1 10.000.000 X 100.000.000 C
200.000  CC | 2.000.000 I 20.000.000 XX | 200.000.000 cC
300.000 | CCC | 3.000.000 TIII 30.000.000 | XXX | 300.000.000  CCC
400.000 CD | 4.000.000 IV 40.000.000 XL | 400.000.000 (o))
500.000 D | 5.000.000 v 50.000.000 L 500.000.000 D
600.000  DC | 6.000.000 V] 60.000.000 LX | 600.000.000 DC
700.000 | DCC | 7.000.000 @ VII 70.000.000 & [XxX | 700.000.000  DCC
800.000 | DCCC | 8.000.000 | ViiI | 80.000.000 | XXX | 800.000.000 DCCC
900.000 = CMC | 9.000.000 X 90.000.000 XC | 900.000.000 CM
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